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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	B  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.1 Components of Universe [99086]
	U55868

	2
	B  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.2 Distance and Appearance [99087]
	D110632

	3
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.2 Distance and Appearance [99087]
	D110634

	4
	C  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.3 Day vs Month vs Year [99088]
	U55682

	5
	D  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.4 Explain Moon Phases [99089]
	D101809

	6
	B  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D52366

	7
	C  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D84582

	8
	D  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D84561

	9
	B  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D63174

	10
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D81679

	11
	A  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D88452

	12
	A  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D59171

	13
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D65883

	14
	C  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D57242

	15
	A  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D53434

	16
	B  
	Hard  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D81681
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6th Grade Science TCAP Blitz March 19-March 23 Week 3
	Question 1 of 16

	The arrow in the diagram of our solar system shown below is pointing to the location where many rock bodies orbit the sun between Mars and Jupiter. 
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These rock bodies are called ________ 
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	A.
	comets. 

	[image: image3.wmf]  
	B.
	asteroids. 

	[image: image4.wmf]  
	C.
	meteors. 

	[image: image5.wmf]  
	D.
	planets. 

	 


	Question 2 of 16

	The Moon and the Sun can eclipse each other from the viewpoint of observers on Earth. This is because they appear to be the same size in the sky. 

Which sentence explains this?

	 
	 
	 
	 
	 

	[image: image6.wmf]  
	A.
	The Moon and the Sun are exactly the same size, shape, and distance from Earth.

	[image: image7.wmf]  
	B.
	Although the Sun is much larger than the Moon, it is also much farther away from Earth.

	[image: image8.wmf]  
	C.
	The light that comes from the Moon has the same source as light that comes from the Sun.

	[image: image9.wmf]  
	D.
	The Sun and the Moon revolve around Earth at about the same speed.

	 


	Question 3 of 16

	On a clear night, it may be possible to see Venus, Mars, Jupiter, or Saturn. 

To the unaided eye, these planets appear as points of light, but none of their moons can be seen without a telescope. 

Why is it that the planets can be easily seen, but their moons cannot?

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	The moons are too small.

	[image: image11.wmf]  
	B.
	The moons are too hot.

	[image: image12.wmf]  
	C.
	The moons are too fast.
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	D.
	The moons are too careful.

	 


	Question 4 of 16

	Look at the diagram of Earth below. 

[image: image14.png]



What do the arrows in this diagram represent? 

	 
	 
	 
	 
	 

	[image: image15.wmf]  
	A.
	inertia 

	[image: image16.wmf]  
	B.
	gravity 

	[image: image17.wmf]  
	C.
	rotation 

	[image: image18.wmf]  
	D.
	revolution 

	 


	Question 5 of 16

	Which of the following is the correct moon phase order?

	 
	 
	 
	 
	 

	[image: image19.wmf]  
	A.
	new moon, crescent moon, gibbous moon, quarter moon, full moon

	[image: image20.wmf]  
	B.
	new moon, gibbous moon, quarter moon, crescent moon, full moon

	[image: image21.wmf]  
	C.
	crescent moon, quarter moon, gibbous moon, full moon, new moon

	[image: image22.wmf]  
	D.
	new moon, crescent moon, quarter moon, gibbous moon, full moon

	 


	Question 6 of 16

	The moon's pull is strongest on the part of the Earth directly facing the moon. When that part of the Earth is a part of the ocean, what type tide does this produce?

	 
	 
	 
	 
	 

	[image: image23.wmf]  
	A.
	Spring Tide

	[image: image24.wmf]  
	B.
	High Tide

	[image: image25.wmf]  
	C.
	Neap Tide

	[image: image26.wmf]  
	D.
	Low Tide

	 


	Question 7 of 16

	Which of these is responsible for the occurrence of different seasons on Earth?
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	A.
	change in weather conditions on Earth 

	[image: image28.wmf]  
	B.
	change in heat energy emitted by the Sun

	[image: image29.wmf]  
	C.
	change in the angle of solar radiation on Earth 

	[image: image30.wmf]  
	D.
	change in the distance between the Earth and Sun 

	 


	Question 8 of 16

	Hydrogen and helium are present widely in the universe. However, they are present in small amounts in the earth's atmosphere because ____________. 

	 
	 
	 
	 
	 

	[image: image31.wmf]  
	A.
	they are consumed by plants

	[image: image32.wmf]  
	B.
	they are dissolved in ocean water 

	[image: image33.wmf]  
	C.
	they are burned as fuels by human beings 

	[image: image34.wmf]  
	D.
	they are lightweight and escape to the universe 

	 


	Question 9 of 16

	Sometimes the Earth is directly between the sun and the moon. This causes a blocking of sunlight to the moon. When this occurs it is called 

	 
	 
	 
	 
	 

	[image: image35.wmf]  
	A.
	a solar eclipse.

	[image: image36.wmf]  
	B.
	a lunar eclipse.

	[image: image37.wmf]  
	C.
	a planetary eclipse.
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	D.
	an asteroid.

	 


	Question 10 of 16

	During a solar eclipse, where is the Moon positioned?

	 
	 
	 
	 
	 

	[image: image39.wmf]  
	A.
	between the Sun and the Earth

	[image: image40.wmf]  
	B.
	in the Earth's outer orbit

	[image: image41.wmf]  
	C.
	parallel to the solar plexus

	[image: image42.wmf]  
	D.
	the closest orbital position to the Sun

	 


	Question 11 of 16

	What causes high and low tides?

	 
	 
	 
	 
	 

	[image: image43.wmf]  
	A.
	the rotation of the Earth and Moon, and gravity

	[image: image44.wmf]  
	B.
	the wind, and differences in water temperature

	[image: image45.wmf]  
	C.
	the rotation of the Moon and Sun, and gravity

	[image: image46.wmf]  
	D.
	the wind combined with surface ocean currents

	 


	Question 12 of 16

	Which number in the diagram below shows the relationship between the sun and Earth when it is Summer in North America? 
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	A.
	Number 1
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	B.
	Number 2
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	C.
	Number 3
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	D.
	Number 4

	 


	Question 13 of 16

	This is an example of the tilt of Earth's axis as it revolves around the Sun. The tilt shown is called the December solstice because the south end of Earth's axis is tilted toward the Sun. It is summer in the southern hemisphere and winter in the northern hemisphere. What season is it in North America during the December solstice? 

[image: image52.png]




	 
	 
	 
	 
	 

	[image: image53.wmf]  
	A.
	winter
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	B.
	spring

	[image: image55.wmf]  
	C.
	summer

	[image: image56.wmf]  
	D.
	fall

	 


	Question 14 of 16

	On paper, draw a picture showing the position of the Moon, Sun, and Earth during a lunar eclipse. Explain why their positions result in a lunar eclipse.

Which position of the Moon would cause a solar eclipse over a portion of Earth? 

[image: image57.png]6P.M.

6AM.

Tncoming
Sunlight





	 
	 
	 
	 
	 

	[image: image58.wmf]  
	A.
	3
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	B.
	5
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	C.
	1
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	D.
	7

	 


	Question 15 of 16
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What type tide occurs when the sun, Earth, and moon are in alignment with one another?
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	A.
	Spring Tide

	[image: image64.wmf]  
	B.
	High Tide
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	C.
	Neap Tide
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	D.
	Low Tide

	 


	Question 16 of 16

	Which eclipse lasts longer?

	 
	 
	 
	 
	 

	[image: image67.wmf]  
	A.
	a solar eclipse

	[image: image68.wmf]  
	B.
	a lunar eclipse

	[image: image69.wmf]  
	C.
	Both last the same amount of time.

	[image: image70.wmf]  
	D.
	It depends on the individual eclipse.
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